                                                      RAD MidTerm Exam 

Osteoarthrosis , all are true except :
A) Hip and knee are commonly affected.
B) Positive rheumatoid factor.
C) Can be secondary to congenital hip dislocation.
D) Marginal osteophyte formation of the affected joint.
E) Hand involvement is a recognized feature.

The nuclear dives used in NM :
A) Dose calibrator.
B) Gamma camera .
C) Survey meter.
D) Muller tube !!??.
E) None of the above.

Which of the following is true regarding foreign body aspiation? :
A) Normal prevertebral soft tissue thickness.
B) Barium should be used if perforation is suspected.
C) Plain X-ray of the neck is not helpful.
D) Air bubbles can be seen in the prevertbral soft tissue.
E) U/S examination is better than CT in delineating foreign body.

Torus fracture :
A) Is seen in young adult age.
B) Indicating cortical buckling.
C) Disruption of cortex from one side only .
D) Include skull in particular.
E) Occur at physeal plate.

Which is true, introduction of skeletal trauma :
A) 2 images should be taken always.
B) Weakest link point >> the least area to be injured.
C) Sublaxation >> complete separation.
D) MRI can demonstrate bone injuries.

Which is true, pneumoperitoneum :
A) MRI is the best to detect such finding.
B) US can detect free air in the abdomen.
C) Crescentic area of lucency under right diaphragm is diagnostic.
D) The best view is lateral film of chest.
E) CT !!??

Which is true, normal finding on plain abdominal film :
A) kidneys can be seen between L3 and L5 level.
B) Liver is opposite to L4 and L5 level.
C) Gas in the rectum indicates pathology.
D) Pancreas is well visualized.
E) Gas in small bowl is more central to large bowel.

Which is true, esophageal achalasia :
A) Involvement of upper thoracic esophagus.
B) Involvement of mid thoracic esophagus.
C) Hazy outline of the stricture.
D) Long irregular stricture.
E) Rat tail appearance of the stricture.

All are true except, renal imaging :
A) Renal vein is the most anterior structure of the renal hilum.
B) Renal pelvis the most posterior structure of the renal hilum.
C) Each kidney can have more than one artery up to 30 % of cases.
D) Renal pelvis is clearly identified and dilated on normal CT study.
E) Both adrenal gland are of the important anatomical relation of the kidneys.

Which is true, imaging of urinary tract:
A) MRI is the most important ionizing radiation exam.
B) Renal papilla is the apex of pyramidal shaped medulla bulging in to renal pelvis.
C) The right kidney is normally slightly lower than the left one.
D) Both kidneys are normally extending from the level of L2 to L5 vertebra.
E) The left renal vein is shorter than the right one on CT exam.


In figure (1) all are true except:
A) These are KUB films.
B) KUB detect radio-lucent stones.
C) The arrow is pointed to the lift psoas msl.
D) Kidneys are originally retroperitoneal structure.
E) The double arrow pointed to the body of 3rd lumbar vertebra.

In figure (2) all true except:
A) This is an IVU study.
B) (P) Is the renal pelvis.
C) The double arrow pointed to the left ureter.
D) The single arrow pointed to renal vein.
E) This exam is contraindicated in allergic patients.

In figure (3) which is true:
A) This is real time US exam of the kidney.
B) This examination is indicated with !!??
C) The arrow points to the wave form of pulsed Doppler examination.
D) This is an ionizing radiation exam.
E) This exam requires a good renal function.

In figure (4) one is false:
A) This is a post –iv contrast CT study of the kidney.
B) 1-represents renal parenchymal enhancement.
C) 2-represnts aorta.
D) 3-represnts dilated left renal pelvis .
E) This examination is contra indicated in !!??

In figure (5) which is true:
A) In this patient major vascular structure( aorta , IVC) are intact.
B) Thin regular internal septa in a renal cyst exclude its benign (simple) nature.
C) Wall thickness of simple renal cyst should be imperceptible !!??.
D) Beak sign is a sure sign of malignant renal cystic lesions.
E) Simple renal cyst is typically having attenuation values of its content > 50 HU.

In figure (6) all are true except:
A) Distended small bowl loops.
B) Collapsed large bowl loops.
C) Multiple air-fluid levels.
D) Air-fluid level at different heights.
E) A picture of large bowl obstruction.

The same figure,, which is true regarding plain abdominal X-ray:
A) Normal maximum diameter of small bowl is 2.5 mm.
B) More than three air-fluids are diagnostic for bowl obstruction.
C) Absence of large bowl distention suggests ileus.
D) Multiple air-fluid levels at different heights are more with mechanical obstruction.
E) The routine projection is erect film.

In figure (7) all true except:
A) A refers to tibia.
B) B refers to talus.
C) C refers to fibula.
D) D refers to lateral malleolus.
E) E refers to medial malleolus.

In figure (8) all are true except :
A) A refers to sacroiliac joints.
B) B refers to symphysis pubis.
C) C refers to obturater foramen.
D) D refers to lesser trochanter.
E) E refers to greater trochanter.

In figure (9) all are true except:
A) A refers to trochlea.
B) B refers to radial head.
C) C refers to trochlea.
D) D refers to coronoid process.
E) This is AP view of the elbow.


In figure (10) all are true except:
A) This is AB view of the hand.
B) No bony erosions
C) The finding are nearly symmetrical
D) There is collapse of the carpal bones
E) The diagnosis is likely rheumatoid arthritis.

In figure (11) which is true:
A) The lesion is in the epiphysis
B) The border is ill defined
C) The lesion is likely benign
D) This a sclerotic lesion of the tibia

In figure (12):
Bone scan with multiple metastasis.
مثال ع اسئلة الصور :
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What's the most likely diagnosis?
A. Liver laceration
B. Renal laceration
C. Pancreatitis
D. Free air
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What's the most likely diagnosis?
A. Positive fat pad sign 
B. Pigmented villonodular synovitis 
C. Lipoma 
D. Gout 
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What's the most likely diagnosis?
A. Generalized ileus
B. Small bowel obstruction
C. Large bowel obstruction
D. Free air 

هذي تجميعة من السنوات اللي قبل
Tc-99m is commonly used in nuclear medicine scanning because:
A) It causes less radiation to the tissue
B) It emits beta particles
C) It emits gamma rays
D) It serves as a label to a wide variety of compounds
E) Has a long half life
Which of the following uses ionizing radiation:
A) MRI
B) US
C) CT scan
D) Nuclear Medicine
E) Ba meal

Abdominal US can detect:
A) Peptic ulcer
B) Choleystitis
C) Trachio-esophageal fistula
D) Pancreatitis

Regarding bone scan:
A) Distraction of bone occurs more in malignancy then in benign
B) Lesions with narrow zone of transition are more likely to be benign
C) Green stick occurs more in adults
D) Physical injury is a (***) which occurs in the growth plate
E) The most common (***) in adult is in the growth plate.

Rheumatoid Arthritis:
A) There is periartecular osteopenia
B) Periosteal reaction
C) Occurs more commonly in the small bones then in the long bones

In IVP:
A) Chronic pyonephritis causes scaring of the kidney
B) Renal artery stenosis causes scaring of the kidney
C) IVP is needed before a kidney transplant
D) The left kidney is higher than the right one
E) Used in detecting vesci or urethral reflex

Which of the following is false:
A) Barium enema is used for large bowels
B) Smoking should be stopped before Ba meal
C) Ba meal is used in suspected perforation of the bowels
Myocardial perfusion scan is used in :
A) Tachycardia
B) Coronary artery disease
C) Pericarditis
D) Aortic aneurism


Which of these matches is true :
A) Upward shifting of the apex - aortic coarctation 
B) Honey comb – interstitial lung disease
C) Bat’wings shape - # edema
D) Silhouette(shadowing) of diaphragm - interstitial lung disease


Abdomen : !??
A) ERCP is used in gastric obstruction
B) Barium is radiolucent contrast
C) Double contrast means : barium + air 
D) Angiogram is indicated in GI bleeding 
E) US is used to detect abdominal masses

. The following structures could be visualized in a palin film KUB (Kidneys, Ureters, Bladder) imaging except:

D

a. Kidney shadows
b. Ureter calculi
c. Bony landmarks
d. Major and minor calices 



2. The average number of kidney major calyces is:
B
a. 1
b. 3
c. 5
d. 7



3. Regarding the testes:
A
a. The best modality is CT
b. Tunica albuginea is echogenic in ultrasound
c. Spermatic cord enters through the anteriosuperior margin
d. Each semineferous tubules gives branching lobules



4. Regarding renal trauma all are true except:

A
a. Penetrating trauma is the most common cause
b. Hematurea is a common presentation
c. Usually associated with lower rib fracture
d. Other abdominal organs are usually involved



5- in regards to nephrolithiasis which is true :
D 
a-More common in Females.
b-Hyperlipidemia is a risk factor.
c-always symptomatic.
d-calcium calculi appear opaque in imaging.
e-uric acid stones appear Semi opaque in imaging.

6-which of the following appear in plain film :
A 
a-struvite calculi.
b-cystine calculi.
c-uric acid stones.
d-matrix stones.

7- A 54 y.old patient who is asymptomatic , during a CT scan was found to have thick wall , multiple cysts with calcifications , using Bosniak Classification its most likely to be: 

C 
a-Type I.
b-Type II.
c-Type III.
d-Type IV.

8-which of the following is concederd a malignant mass:
C

a-Angiomyolipoma.
b-Oncocytoma.
c-Nephroblastomatosis.
d-Hemangioma.
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